E AlC 6| |4[B]D[3]9
3 71A 1| |c
ol [e plc| |3 6| [A
1 D 540
ol 4] |5 3|D 8| |1
cli]s Flof2] |5
F 7[1]2] |4
E 0 2| |1 7] Icl
Al |7 ANE 5] [c 3]
1|98 4 ¢
2 B|A 3 pleE]:
5 0 Al 18] [8]s
5[o]7 Bl |1] |3 g
8 A 5 Flo 7 C g
F 1 4l |2
6[3[1]2]s] [e] [Flo]c 7112
Monster Daily Sudoku: Sun 9-Dec-2012 easy
E AlC 6| |4|B[D[3]9
3 71 A 1| |c
ol [e plc| |3 6| [A
1 D 540
ol 4] |5 3[D 8| |1
cli]s Flo[2] |5
F 7[1]2] |4
E 0 2| |1 7] Icl
Al |7 NHE 51 [c 3|
198 4 ¢
2 B|A 3 pleE]:
5 0 Al 18] [s]s
51907 Bl |1] |3 5
8| |A 5 Flo 7] |c g
F 1 Al E
6 3[1]2]s] [e] [Flo]c AN E
Monster Daily Sudoku: Sun 9-Dec-2012 easy

http://www.dailysudoku.com/



E AlC 6 4B 39
3 7|A 1 C
0 E D|cC 3 6 A
1 D 5040
0 4 5 3|(D 8 1
cl1]|B Flo]2 5
F 7 2 4
E 0 2 1 7 cl
Al |7 ANE 5] [c 3]
1|98 4 ¢
2 B|A 3 pleE]:
5 0 A 8 B«
5 7 B 1 3 2
8 A 5 Flo 7 C g
F 1 4l |2
6[3[1]2]s] [e] [Flo]c 7112
Monster Daily Sudoku: Sun 9-Dec-2012 easy

http://www.dailysudoku.com/



